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BOTANY — GENERAL
Paper : SEC-A-1

(Plant Breeding and Biometry)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version |
The figures in the margin indicate full marks.
1. Answer any ten questions : 2x10

(a) What is intergeneric hybridization? Give an example.
(b) What is emasculation? Write one method of emasculation.
(c) Whatis ‘Acclimatization’?
(d) Name two crop varieties obtained through mass selection.
(¢) What is meant by Restorer-line or R-Line in hybrid seed production?
(f) Mention two manifestations of heterosis.
(g) Give two examples of any crop obtained through mutation breeding.
(h) Give two examples of the application of plant tissue culture in crop improvement.
(i) Define mode. When is a frequency distribution called bimodal?
() Write the formula of sample standard deviation of a frequency distribution.
(k) What are the degrees of freedom for monohybrid cross and dihybrid cross?
() What do you understand by population and sample?

(m) If the total frequency of a sample is 50, how would you determine its median?

2. Write short notes on (any four) : 5%4
(a) Heterosis

(b) Role of allopolyploidy in crop improvement
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(c) Pure line-selection

(d) Measures of Central Tendency

(e) Distant Hybridization.

3. Answer any four questions :

(a) Define hybridization. Describe the techniques of hybridization. 2+8

(b) Write the process of Mutation breeding. Write the merits and demerits of mutation breeding.  5+5

(c) What is Recombinant DNA Technology? Discuss the role of Recombinant DNA Technology in
crop improvement. 248

(d) The following data shows the number of leaves per plant in 35 plants. Calculate the standard

(e)

deviation and standard error of mean. 7+3
20, 24, 23, 21, 22, 40, 39, 39, 40, 38, 37, 38, 37, 25, 30, 29, 28, 26, 25, 26, 25, 34,
36, 31, 35, 36, 31, 35, 36, 35, 32, 35, 33, 35, 34

Define Chi-square Test. Describe Chi-square (X2) Test method of testing ‘Goodness of fit” with
the help of an example. Mention the importance of the test. 1+7+2




